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B8 y = (x + VI+ x2)2
ALNS Y,y . UFENTY (1 +x2)y"+ xy'— 4y=0 9

TSNS u=Vi+ 22 => y=(x+u)? =>y =2(x + Wl + v) (1)
w= (142 => w = 2 A+ a7 @0 = x(1+ 277 ()
y = 2(x +xu +u + uw) (Hhw (1))

y =2[x + x.x(1+ xz)_% + (1+ xz)% + (1+ xz)%.x(1+ xz)_é] (HNw (2))

1 1
' 2[x + x2(1+ x¥) 72 + (14 x%)2 + x]

y =
1 1
y =4x + 2x*(1+ x*)7z2 4+ 21+ x2)z (3)
g0
Yy

y'= 4 + 4x. (1+ xz)_% + 2x% (- %)(1 + xz)_% (2x) +2 (%)(1 + xz)_% (2x)
Y = 4 4+ dx. (14 x2)"7 - 223 (14 x2)72 + 2x(1 + x2)"2
y'=4 + 6x (1+ xz)_% -2x3 (1 + xz)_% (4)
HOSEHS A= (1+x2)y" + xy' — 4y
Gige Hnw (3),(4) @
A=(1+x®)[4 + 6x(1+ xz)_% -2x3 (1+ xz)_g] +x [4x + 2x*(1 + xz)_% +

1
2(1+ x®)2] =4 (x + V1+ x2)?
1 1 1
A=4(1+x%) +6x (1+ x*)2 -2x° (1+ x*)72 +4x* +2x3(1+ x¥) 72 +
1
2x(1+ x)2z -4 x? +2xV1+ x2 + (1 +x2)]
1
A= 8x(1+ x2)z + 4x?2—4[x2+2xV1+ x2] =0

GF1gs (1 +x3)y"+ xy'— 4y =0 ¥/
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(1+x2)y" +xy—4y =0 thadmidigistaiu Wiw

y = (x + Vit x2)2 thonbwisasSmidigistauss 9



